
N = 73
 73 circles in a circle

radius =   0.104817999688
ratio  =   9.540346152138

density  = 0.802037353280
contacts = 138
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N = 74
 74 circles in a circle

radius =   0.104283629835
ratio  =   9.589232764339

density  = 0.804755583419
contacts = 142
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N = 75
 75 circles in a circle

radius =   0.103390915666
ratio  =   9.672029631947

density  = 0.801726108176
contacts = 141
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N = 76
 76 circles in a circle

radius =   0.102779181947
ratio  =   9.729596802162

density  = 0.802830578368
contacts = 142
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N = 77
 77 circles in a circle

radius =   0.102052146984
ratio  =   9.798911924507

density  = 0.801927334207
contacts = 142
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N = 78
 78 circles in a circle

radius =   0.101443439719
ratio  =   9.857709899885

density  = 0.802680174044
contacts = 149

 E.SPECHT
23-APR-2010

N = 79
 79 circles in a circle

radius =   0.100958464654
ratio  =   9.905063467661

density  = 0.805216315245
contacts = 162
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N = 80
 80 circles in a circle

radius =   0.100319499416
ratio  =   9.968151813153

density  = 0.805120157049
contacts = 151
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N = 81
 81 circles in a circle

radius =   0.099891475492
ratio  =  10.010864241201

density  = 0.808242856948
contacts = 151
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N = 82
 82 circles in a circle

radius =   0.099494327805
ratio  =  10.050824223451

density  = 0.811727943763
contacts = 160
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N = 83
 83 circles in a circle

radius =   0.098844919277
ratio  =  10.116857875102

density  = 0.810936399549
contacts = 156
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N = 84
 84 circles in a circle

radius =   0.098526721390
ratio  =  10.149530867236

density  = 0.815431245548
contacts = 157
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